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Section 1 - Paperl-English Language

1) Find the most appropriate opposite meaning word:
STARTLED

A) Endless
B) Amused
C) Astonished
D) Relaxed

Techofworld.In

Read the following passage and answer the questions
that follow:

Human skin color ranges in variety from the darkest brown
to the lightest hues. An individual's skin pigmentation is
the result of genetics, being the product of both of the
individual's biological parents' genetic makeup, and
exposure to sun. In evolution, skin pigmentation in human
beings evolved by a process of natural selection primarily
to regulate the amount of ultraviolet radiation penetrating
the skin, controlling its biochemical effects. The actual skin
color of different humans is affected by many substances,
although the single most important substance is the
pigment melanin. Melanin is produced within the skin in
cells called melanocytes and it is the main determinant of
the skin color of darker-skinned humans. The skin color of
people with light skin is determined mainly by the bluish-
white connective tissue under the dermis and by the
haemoglobin circulating in the veins of the dermis. The red
color underlying the skin becomes more visible, especially
in the face, when, as consequence of physical exercise or
the stimulation of the nervous system (anger, fear),
arterioles dilate. Color is not entirely uniform across an
individual's skin; for example, the skin of the palm and the
sole is lighter than most other skin, and this is especially
noticeable in darker-skinned people. Natural skin color
can also darken as a result of tanning due to exposure to
sunlight. The leading theory is that skin color adapts to
intense sunlight irradiation to provide partial protection
against the ultraviolet fraction that produces damage and
thus mutations in the DNA of the skin cells. In addition, it
has been observed that adult human females on average
are significantly lighter in skin pigmentation than males.
Females need more calcium during pregnancy and
lactation. The body synthesizes vitamin D from sunlight,
which helps it absorb calcium. Females evolved to have
lighter skin so their bodies absorb more calcium.The
social significance of differences in skin color has varied
across cultures and over time, as demonstrated with
regard to social status and discrimination.

2) Human skin colour is affected by which of the following?

A) Genetics

B) Evolution

C) Biochemical effects
D) Natural selection

3) Which of the following options is TRUE about Human
Skin?

A) The skin colour is only affected by genetics
B) Colour is not uniform across human skin

C) Melanin gives the light skin red colour during physical
exercise

D) Melanin is an ingredient found in sunscreen

4) As a result of evolution, females are light skinned

A) as they have more Vitamin D

B) as they are beautiful naturally

C) for increased bone density

D) to absorb more calcium during pregnancy

5) The face of light coloured people become red when the

A) arterioles dilate

B) arterioles constrict

C) connective tissue circulates
D) dermis dilate

Techofworld.In

6) What is Melanin in skin?

A) An underlying skin
B) A dermis

C) A vein

D) A pigment

Pagelof22
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7) Select the correct form of verb from the given options.
John: "What with the broom?"

A) are you doing TeChOfworId.In

)
B) did you doing
C) you do
D) is being doing

8) Find the most appropriate opposite meaning word:
COMFORT

A) Complacency
B) Exhilaration
C) Contentment
D) Agitation

9) Select the correct option.
My mechanic is an expert with ------------ bikes.

A) a

B) no article
C) the

D) an

10) What is the plural form of Box?

Join Us-' > f
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Section 2 - Paperl-Education and General Awareness
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11) As per Government Notification of 13th June 2005, all
of the the following are the Terms of Reference of the
National Knowledge Commission (NKC) EXCEPT:

A) Build excellence in the educational system

B) Promote knowledge applications in agriculture and
industry

C) Promote creation of knowledge in S&T laboratories
D) Greater participation by retired educationists

11) 13 g@ 20050 90191 8T 29169, AL SRS 96 F1Ig
6P 098 AYIAAIN FENE HAAE (YP6ad) AT gIATe g6w?

A) QAR J9IR169 QeFe! Gk

B) @8 1a° d96a BIe 96AIG6R 671AIRR

C) ¥q a1a § geaIgaIRnIewea KIGa 986 6gIRIZE
D) 2eaegig RIGeaIew 2R 2°8 g8

12) The instrument used to measure wind speed is

A) Ammeter

B) Hygrometer
C) Anemometer
D) Hydrometer

12) 96 699 (1A dI 699 QUFAE LR FRILN?

A) aiiiea

B) eimegifica
C) aidsaifica
D) eiqegfiga

13) The National Development Council is the apex body
for decision creating and deliberations on development
matters in India, presided over by the

A) Prime Minister
B) Finance Minister
C) President

D) Law Minister

13) QIRGER ARSI FTLER F9E B FPIQ FAE FQERI AAIP
2GIIR 62QE FYIARIN 606ANAEAL FIRATIM, A1 2P 62088

A) guie a1
B) 218 a1t
C) aaad
D) zlge ag1

14) Which of the following is the only United Nations
Agency with a mandate in higher education?

A) UNDP

B) UNESCO
C) UNIDO
D) FAO

14) GOFRIQ 6996 2@ JVIER 6997 FIg AURNIP T
6eg?

A) gaeed
B) geqeal
C) gusaIe6e
D) eraa

15) The report of committee under the chairmanship of
Janardan Reddy in 1992, provided a base for emergence
of which of the following programmes?

A) Programme for Science Education
B) Minimum Education Programme
C) Revised Programme of Action

D) National System of Education

15) 1992 66 GRIGE 6OBIT 2UVGIKS &Q 28l /A6 Geale
FANQ 624 6AIRR! AQAISI AR 9 2RIK CAIFIR 6PRRI?

A) 691910 &R ARG NFERAR
B) fifae ugeadae 6919)¢

C) GeIeQe sgigie 2 2Iga
D) qyacim Qa1 2T 1geaan
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Section 3 - Paperl-Reasoning

16) In a certain code language MODULE is written as
EQFWNM. How is FUNCTION written in that code
language?

A
B
Cc
D

NUNCTIOF
NVODUJPF
NWPEVKQF

— N

16) 4@ PEe AETES ANI6a MODULE @ EQFWNM 621@
ERSIKIRAN | 698 Qlewon @AEQ FUNCTION q @e@
EnGlIa?

A) NOITCNUF
B) NUNCTIOF
C) NVODUJPF
D) NWPEVKQF

17) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some consonants are symbols.
All the symbols are numbers.
Conclusions:

1) All the numbers are symbols.

Il) Some consonants are numbers.

A) Only | follows
B) None of the conclusions follow
C) Only Il follows

)

D) Both | and Il follows

vorenoe | @chofworld.In

17) G6L9I9RT: 06@ TUAIRAR 814 08 78 Fd TAARE |
2IAEg TEUINIRLQI A8 ARY 6QIM ARG 99 AQ8 G gl
QRIFEER FEILR SAY0IR 8F CQIAIREN | AN Fad] 9L
4G° Q106 F9R g, QuINIRAR Aad FIQ 6R9F! ARINLER
R€12J91 G2 ARTIRT ARSI ARAYY O] RIS AQIE QQE |
F12QY: A8 AR6AIRIE 62QF §912] 5% 9Ee 628 Q! |
fad:

) 4 @il gEe 6268 3% |

1) @8 96N SR8 Q°GHI |

A) 6aaq | 23998 @0

B) 6719d @ Gad Q 2904 @08 QI
C) 6aa Il 2GA08 @09

D) aea | 99° Il 2908 209

18) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some wolves are dogs.
Some dogs are cats.

All the cats are monkeys.
Conclusions:

I) Some monkeys are dogs.
Il) Some cats are wolves.
I11) No cat is wolf.

I\VV) Some dogs are wolves.

A) Only land Il follows

B) Only I, IV and either Il or Ill follows
C) Only Il and Il follows

D) Only Il and IV follows
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18) FELFIGRT: G6R GRS FIBSY I8g 78 Fad TAAREF |
298G QAULRR| FRMR Y 6QR FIFRIR TG ARG § 9|
QARIBGER REILQI 2OIR &R 6NN | IS Fady aeg
49° QI96a G9@ fag, FULINSI Fed AUQ 699G ARIFGES
FEIRIQI PR ZRTRR| @Rl F18g O@ Q16T 29U K& |
24 @8 SR 62988 999 | @8 999 62eaT QG | 99
QAIE Q@@ 62988 IS |

= [echofworld.In

l) @8 A 62988 999 |
Il) @8 Qa6 6208 G2l |
IIl) 6671613 Gl G}ell Q6% |

IV) @8 99Q 62088 92! |

A) 6aa@ 1 9e° |l 2GA08 K9G |

B) 6a@@ I, IV 4Q° 1l @Q 11IQ 6515+ 298 999
C) eaaw 11 99° 11l 804 90g |

D) 6@aq 11 99° IV 2g4ed @9 |

19) When an unbiased dice having numbers 1 to 6 on six
of the faces has been thrown, what will be the probability
of getting a prime number on the top face?

A) 33%
B) 50%
C) 40%
D) 16%

19) 606G696R U@ CIRAA 6 F¥6a 1@ 6 A ERYIKIR

6TIUIE G2ITS, Q08 FE6a §Ig L UIRQIQ 69IQIGRE 6066
Q@aINg?

A) 33%
B) 50%
C) 40%
D) 16%

20) Instruction: In the following questions mark:
1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4 if the question can't be answered at all.
S is the husband of P. How is K related to S?
Statement | : K has two sisters.

Statement Il : K is the mother of P

A) 3
B) 1
gio
D) 4

20) G6L4ISRT: FIRYS 996
1 999 @98 44 6aeR 1864 | AITIYIER g4e A FaIKIQIQE
|

2 996 998, 9T 6aa9 (1294 || AVELIFER J4a 28 TR
aga |

3, 99 @@ | 99° || 99691960 J49 200 TR AIFE |

4, A8 990 999 6969 & NI QA FI@ |

S 62088 PEQ gN1 1 0I626@ K& 98 ST Q10 @4 ?
ey | Ka 9ub §2 283 |

18 || : K 62988 Pea a2l |

A)
B)

C)2
D) 4

Techofworld.In
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Section 4 - Paperl-Teaching Aptitude

Techofworld.In

21) In Force field analysis, when the proposed change is
to incorporate student-centered leaming, which of the
following is the favouring force, if the restraining force is,
'It is the teacher's job to make students learn'?

A) Teachers have not been taught how to teach and use
student-centered methods

B) Students enjoy the teaching-learning process and so
get involved in it

C) Experiential and discovery lessons take students
longer; they will not be able to cover all the required
material during the school year

D) Students learn to take the responsibility of their own
learning and thus gain the skills to become lifelong
learners

21) 4@ 69 T6484160, FaUIE-6ATR JQI60 6K60696% 6@
gaIRe J8eaeg MIg FAIUN, 9F JeaR *QaQl 9B 62a8
A RIeG R A PAS 6298 dRew A, 6962 AR
QReIal 98 AR 6R0G?

A) QQuie-6REe ae0qEe P08 AeIRQl B QILTIR ARITIN
Q12! Iseies SHIKIRRIE

B) Gauidiniee dRIQie-9Q o8 9a0e A%l 528 6dgain
6QII6R 1e6Q D §2E

C) aamdiae 6 2AFWe AqRe Qlogee e 2@
9eq 69R2UN; 69gRR SIRG Q8 AANER AN ZIQEYR
ANG 18 F0Q ARSI AT 689 FIF

D) Qauigiinies 62019 68 AR QIbe 6091 J4Ql 2I8yR
Q12| FIQI 6AF6R F1RRAR TV QAQ! AR FVS VIRES

22) The National Eligibility Test in order to select
candidates for lectureship or fellowship is conducted by

A) Central Board of Secondary Education

B) National Council of Educational Research and
Training

C) University Grants Commission
D) All India Council for Technical Education

Techofworld.In

22) QIR 695Gl 918l gaige G691 caenida ain giell 98e
Qa9 g @ 919l 26T FAULIRINI

A) geg1a arIfe 81 61

B) aigia 638e 2gasis 6 9dad aee
C) 3q Qayinea 29918 @0aq

D) age ueele 60qaln d8l aaee

23) Read the following statements and choose the
CORRECT option.

(i) In Independent India, The statutory All India Council for
Technical Education was established on May 17, 1968
with a view to proper planning and coordinated
development of technical education system throughout
the country.

(i) The purview of AICTE (the Council) covers
programmes of technical education including training and
research in Engineering, Technology, Architecture, Town
Planning, Management, Pharmacy, Applied Arts and
Crafts, Hotel Management and Catering Technology etc.
at different levels.

A) (i) is TRUE and (ii) is TRUE
B) (i) is FALSE and (ii) is FALSE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

23) Gedi} QY gE] deg 9e° 0] Q9T 9UE @09l
(i) RIS QGGER AIR 63960 65398F J8l LR VY
CUIRRI 9° ARQe FRId Gr6e (e dEl AR SFURS
QG ORSQ 1968, 67 17 olGgica Yde IR

(i) 910d56 (AICTE) (0682) 95Qa f6a 3aq adiea
ABEAR6E  Gme 990 J6eEdl, 6T9da dQl, LK,
QALRELIRRI, AALINGI, TIAIF, QN 2AIF 2 FKE, 6LETR
CUIERREFIE 2II6) QUIETEE 6T6RIEMIE DONIG AFR |
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24) Which of the following teaching methods is Student-
Centered but NOT High-Tech approach to learning?

A) Expeditionary Learning
B) Inquiry-Based Learning

C) Game-Based Learning Te C h OfWO rI d . I

D) Personalized Learning

24) FoRge d|1 &) gF@ FUQ 690 81 6/50 263 ag JgQl
AR 9 65009 48 986a18 g6a?

A) 2619 age1a dal

B) acquaed akIge sl
C) 63ie 21153 g

D) qy@aie a4l

25) Which of the following terms can be defined as a
structured, systematic form of learning in which students
work together in small groups on a common task?

A) Descriptive learning
B) Competitive learning
C) Collaborative learning
D) Cooperative learning

25) G¢) FUQ 699 998 2°050, RIS IYRI Q4LAIG QYIS
D6 628 2J6Q D ARG FIIG FILIAIEE 6819 QPR FERE
@Gag ?

A) 623fa afa

B) afecGa ade

C) 6aImIesata aGet
D) sri20605@ AGe

Techofworld.In

26) For teaching in an inclusive classroom, a teacher
needs to possess competencies that help her/him to plan
and implement strategies that provide students wider
access to regular curriculum. Which of the following
options is one such competency?

rl\) Ignore the diversity in the class and focus on
completing the syllabus on time

B) Identify students who need special attention and put
them in a separate class

C) Be able to informally assess the skills a student needs

D) Adopt teaching practices that will benefit the needs of
majority students

26) 9@ AFFO 6541260 FRIQIE AIR, K68 dNaE FAS! &S
2GR Ll GlF QEINIEHERa 6UIR! AR G Mg FARIER
QRN *GQ QI FAUAAIeg Fafie AIOIGAER 2@ T69 6
QYIS @GEIN | HYAQ 606E 6aTAR 9@ FAI?

A) 6g416Q FRUICIY ATV 2GR AN AQAIER AICHZET Q]?L‘ﬁ
PO QUER AU 65K |

B) Ge8@ If 2ISEIe QQael FQuEKIeg T99 ol 6
6QAAT AR IR 65416Q QYS! |

C) 968 Guielig 2IR8yR 2l AUSIGFaa A6AIUsIR Q16
NI QAR AT 629 |

D) 2jqrg Qauidifes 2199ie0ly MR 62029 IR
2EHIAgee ged aaal |

27) Which of the following agencies of education is natural
and incidental where there are no predetermined aims,
curricula, methods, and teachers?

A) School education
B) Formal education
C) Informal education
D) College education

27) QIR G609 AGIRYRR AIQ 6966 YIRS 19 ARIR

6990163 6@9d g FHIAS WY, AIOIFA IQ° AT ¥ FIR
QIRIB?

A) Guirg sl
B) Gaciae da
C) zeqlaciam a1
D) aeitayea sl
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28) The concept of insightful learning was given by

A) Dollard Miller T h f |d I
C) Wolfgang Kohler
D) Edward Skinner

28) 8248 IR FULQY @4 IR FRY6M ?

A) eqie daQ

C) 6QIngIer 6QIIQ

)
B) e ©160160Io%,
)
D) wgaig dea

29) Which of the following is NOT a characteristic of an
aggressive child?

A) Acts as an arbitrator

)
B) Frequently loses his temper
C) Becomes frustrated easily
D) Inevitably challenges authority

29) FORNHE F1I6Q 6640 2GR TNIQ AVE Q6L ?

A) qag Q16 QI @8I
B) giaes adide!
C) aewsq Gaid 62Rd9l

D) 28Iy QI6Q ZRRIQIG 2IFIR 622

30) The part of the brain that is related to speech
production is called

Islands of Langerhans TeChOfworld . In

Broca's area
Liver
Wernicke's area

A
B
C
D

T

30) QFIQE ARG (AR 2°9q @d @RI ?

A) ZIgRig 2T ATFALIQ
B) sgiarq adal
C) aqe

)
)
)
D) caadq qda
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Section 5 - Paperll-Odia Language
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31) fIed QIq JRIEe@ 83 ¢ § 96R | 6aLIEE 48 & gala 36) NS 699 6 ‘U8’ 2096 62166 G0S ?
Qe o0 ?
A) gogal
A) Gaameida B) aGas1
B) ycuae C) gom
C) aide 6 face D) g&@e
D) aaigiele

32) (P24 ' Q 600 F 29ee ?

A) gl
B) ade

C) enfeo
D) ci@ay

33) ‘@e 9dal - Qada 2e /¥4 ?

A) gedliel GRSl

B) 21898 Saq adQl

C) @ 99 @aal

D) zigasiee go1dl aGa

34) 9Q e 'SClR)E Q 9] B9 dR @dl 699 7

A) or

B) saiy@
C) saig
D) qza

35) GORYS 99 AU SRl 499 590 @9 |

A) 4Q
B) ea@
C) g
D) saa

37) SR 21060 699 Q4R @A AIF | YOIES HIR I0E 6aQ O
Q66 QY99S 6RIRE ?

A

S68QY
B) &

)

) 6684 o Geasel
C) Geaaal
D) Geagua Geaa6

38) GO FIQ 6905 9@ 6IFR Gal ?

A) csige@
B) aigiz
C) gaied
D) zigia

39) FORGe FIQ 6066 ‘IR 999 adUaRIeT 69 ?

A) QU@
B) 9ga
C) cd@in

)

D) qigaia

40) G699 AUQ 6966 AU g6% ?

>

B

g TechoﬂNoHdIn

(9]
@)@(EQ)

)
)
)
)

o
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41)' 62 ' I § 608 AIYS UIFQ ARIG?

»« Techofworld.In

B) q
C) 9g
D) qi

42) ‘6Q1% QU6 FAGI QI - QETR 2l @'4 ?

A) gye a4l
B) Q¢ 6Qi@ql
C) Qg0 691

D) aq @aca @)

43) FIAGO FRIQ 69R 6P AR 49 ?

A) 62139-3919
B) ¢ee-aae
C) adge-eeda
D) aaia-a1@

44) ‘639109’ 605 69Q 99Q ANATIARIST §Q ?

A) Qe

B) oq
C)ed

D) aqg

45) FARAYE AR 6RRG AT 6R MRS QAAG ?

- Techofworld.Ir

C) g
D) 2@
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Section 6 - Paperll-Mathematics

46) What is the diameter of a circle whose area is 161 48)
sg.units ?
Techofworld.] 3
A) 3 units eC O Wor d . n QG 7 =9 oreeem (2x+7) : (2y+9) =
B) 4 units
C) 5 units Ay1:1
D) 8 unit
pums B)7:9
C)o:11
46) ¥ 98 Q A 6R6G 26C UIRIR VTR 16T od AT D)g:7
eee?
A) 3 98¢ 49)
_ A
B) 4 g@¢
%) 5489 m
D) 8 g&e M C

In the given figure, AB = 8 cm, BC =7 cm, ABC = 120°,
AMC=90°. The length of AC is
47) Calculate the volume of a rectangular solid whose
length is 12 cm, width is 8 cm, and heightis 3 cm.

A) 11 cm
A) 278 cm? S
B) 268 cm® C) 12'em
C) 288 cm? B) 13'em
D) 238 cm?®
49)
A
47) 12 6QF T4y, 8 6QF 6AR, B 3 6AF Q@ gl 9@
ZIYVINNR KSR TUIQ [9F |
- "
M B C

A) 278 ag 629 QrIaIReel 6562 AB = 8 6afi, BC = 7 6af, ABC = 120,

B) 268 ae cad AMC=90" 2661 AC @ ff] 66 2697

C) 288 ag 624
D) 238 ag sad

»ued  Techofworld.In

B) 14 ead
o C) 12 eaf
48)If 7 = 9 then (2x+7) : (2y+9) = D) 13 eaf
A1
B)7:9
C)9:11
D)9:7
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50) Which of the following numbers has the highest
number of positive divisors?

A) 99
B) 101

ow: 1 echofworld.In

D) 176

50) @] Q@I FRIQ QIR ATRYS L@ CATING AN ASE?

A) 99

B) 101
C) 182
D) 176

51)

-

X v
In the given figure, OP=21 cm, OX = 29 cm. What is the
measure of XP?

A) 20 cm
B) 50 cm
C) 30cm
D) 40 cm

51)

AN A
Q2RI Fgeq OP=21 6afl, OX = 29 691 656 XP Q ¢1g
6@60 6G7

A) 20 6ad
B) 50 eafi
C) 30 ead
D) 40 ead

52) In order to earn Rs. 1,000 in simple interest over 2
years at an annual rate of 4%, how much principal must
be put into a savings account?

A) Rs. 13,050
B) Rs. 12,500
C) Rs. 12,000
D) Rs. 12,800

52) 4% Qi@ 21060 2 996 9em PI6S €. 1,000 2ig 98S!
dIR, IR QLA HITIER 6768 MR AHIDS AILFYR?

A) ¢.13,050
B) ¢.12,500
C) ¢.12,000
D) ¢. 12,800

53) A party was attended by 200 delegates. 40 of them
like coffee, 80 of them like tea and 30 of them like both.
How many delegates like atleast one of the two
beverages?

53) 64I5° QIFER 200 K¢ APEGRIRIAT Z6R | 6QAAIRT AR
40 @8 @F 99° @08, 80 @9 9191 I9Q @98 8 30 Fd ARQ
J9R K08 | 6960 @4 2EYLEaIa] 95 IR I AERA6R
CRERIGT 601G~ AR @aE?

54) The ratio of the selling price to the cost price of a
product is 7 : 5. The ratio of the profit to the cost price of
that product is

»e* Techofworld.In
C)5:2
D)2:5
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54) 65lIcN ANGIQ GG MY NS° QIFQ 2GS 751 FILI 62EM
@8 4N9IR NI 9&° QIFQ AQUIC 6208

»+s Techofworld.In
C)5;2
D)2:5

55) Three numbers which are co-prime to each other are
such that the product of the first two is 551 and that of the
second and third is 1073. The sum of the three numbers
is

A) 89
B) 81
C) 85
D) 75

55) G671 a°¢iyl 60Q01I6R @ 9090 Ja-6a1aq o8 64 ge

QEGQ QaTra 555 9a° 689 9REQ gETal073 | G6RIG
QIR F1616 620F

A) 89
B) 81
C) 85
D) 75

56) If A={1, 2, 3,4} then the number of elements in the
power set of A is

>

2
6

O @

)1
)1
)3
)8

=)

56) Q@ A={1,2 34}6069 A Q Cl¥e 64566 AT Al
coae

57) A shopkeeper earns a profit of 12% on selling a text
book at 20% discount on the printed price. The printed
price is

57) @64 49911 241 QI U6 20% 9218 690 99 J9l 9F69
12% i@ Q1221 84l QIF 6208

A) 140

B) 150

C) o2

D) 120

58)
I

75 + |‘25+ 108+jl§4+ 1219+Jﬁ=

\ b |

A)5

B) 9

£33

D) 10

58)
]

75 + "25+ {108+\j154+ f219+\.f?=
\ N

»s Techofworld.In

B) g

C)a

D) 10
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59) Ifx = 2.03, then J9x3 il e

Ve Techofworld.In

C) 4.03
D) 2.03

59) "a@ X = 2.03 greaen v 9x% —6x +1 =

A) 6

B) 5.09
C) 4.03
D) 2.03

60) The mean proportional of a and b is V(ab) and average
of a and b is (a+b)/2. If a = 0.08 and b = 0.18, then the
sum of mean proportional of a and b and average of a and
bis

A) 0.025
B) 0.25
C)25
D) 1.25

60) a ¥e° bQ 2I6afa QA V(ab) 9e° a ¥Q° b LAULKR
QIR (a+b)/21 9@ a=0.08 99°b =0.18, a 9° bQ 2160
QIR ¥9° QIR AGUIeR ANE 62RF

A) 0.025
B) 0.25
C)25
D) 1.25
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Section 7 - Paperll-Social Science

61) In which vyear,
Programme launched in India?

ngTechoﬂNoHdJn

)
C) 1953
D) 1950

61) G649 F1IQ Q4 RTEQ NIQGER 66T QRALR VI 2T

cLIemI?

A) 1952
B) 1951
C) 1953
D) 1950

62) According to Koeppen's Climatic Classification which
letter code best represents tropical monsoon climate?

A) Af

B) Am

C) Aw

D) Cs

62) 6RIGARE GRQIY QOURRd QUi . 6ed
2REAFE A6LIPE QI6S FIG 6F1YF1 GRQIG QdIReI ?

A) Af
B) Am
C) Aw
D) Cs

63) In which state of India is the bamboo drip irrigation
practiced?

A) Jammu Kashmir
B) Meghalaya

C) Himachal Pradesh
D) Kerala

was Community Development

63) NACA 57 YETEER AT FAS FREAPE QA 6RIR2IN ?

A) Q1 6 Qg9
B) saaiea

C) @109 geaa
D) eaaq

64) Who among the following was known as the 'Father of
Local Self Government' in India?

A) Jawaharlal Nehru
B) Mahatma Gandhi
C) Lord Michael
D) Lord Rippon

64) GeARARE MY @Y IR 9° AN TR AR
FE1gQ1?

A) eeleanin 6562
B) agicn Qs

C) Q¢ aipean

D) a¢ Gae

65) Which among the following forms of Government exist
in India?

A) Military

B) Presidential
C) Parliamentary
D) Dictatorial

65) QIaG6a G69IB AUQ AARIAR 67E UeD AFF?

A) ainga
B) cugada
C) aaqia
D) uqgg

Techofworld.In
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66) The discontinuity between the hydrosphere and crust 68) QeI A9 SUAIN TRl VRS FAUELINES QAT 6LIR
is termed as

I96° QIQGR 676 ANIER JORG gRl ?
A) Moho discontinuity TeCh OfWO rl d . I rf

B) Conrad discontinuity

A) Qg
C) Lehmann discontinuity B) eeaqm
D) Guttensburg discontinuity C) ggale
D) engina

66) 2NRCRIANR NS QAR FUER Y9I R FY AN

A) saical 396! 69) Which of the following religious doctrines advocated

the existence of one supreme being?
B) sqiqic 380!
C) snageiq 3gae! ’;) ?JUﬁI'
D) qeggad ga! c)) B::klzm
D) Monism

67) How much of the Earth’s landmass is mountainous?

69) F61IR F1IQ 674 AR AGAIR AR F64l FIg AREBAIRT
A) Between 40 to 50 percent

28Q asa?
B) Between 5 to 10 percent &
C) Between 10 to 20 percent .
A) g
D) Between 20 to 30 percent
B) egoqie
) C) @8
67) QA1 ARRICIQ 69Q6E 2°d dIRGYIER"? -
D) 26geqla

A) ¥oQ 80 % Q6
B) 8q¢0 % qusa

70) Which of the following Constitutional Amendment Acts
C) coq 90 % F1i6a is known as 'Mini Constitution'?

D) 90@ M0 % aea A) 42nd Constitutional Amendment Act
B) 58th Constitutional Amendment Act

C) 31st Constitutional Amendment Act
68) In which of the following states of India was the D) 61st Constitutional Amendment Act
practice of Rat hole mining banned by the National Green
Tribunal?
A) Haryana 70) G6qi9 ClUQ 6RQ QRAIG ABERIS P9 AL QAN
B) Kerala edqIger? T h f |d I
C) Gujarat eC O Wor - n
D) Meghalaya A) ¥ 969
B) sreq
C) meen
D) veaq
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71) Which of the following movements was launched at 73) G6QlIR AUQ & “GIF 621 AV'Q A°YITR ZER?
the Bombay session of the All-India Congress Committee
by Gandhion 8th August 19427

A) QefIgIR 219l

)
A) Civil Disobedience Movement B) eoenin efle
B) Quit India Movement C) &6 &4
C) Non-Cooperation Movement H
D) Swaraj Movement D) 65.218.8 616

Fechofworld.In

71) @ 0% 9 18RI 2SR I CITHEN FINIE FIS ATAINEIR F°6gQ 74) Who among the following Mughal rulers had his

- o - original name as Shahab-ud-din Muhammad Khurram?
QOGA Q6F] AJEINER GELB FIG 698 RN AR
sLIReIMI? A) Shah Jahan
B) Humayun
A) 2IRQ ZQIQY ZIEQIRG C) Jahangir
B) @ia@ 81§ 216R1ee D) Aurangazeb

)
)

C) zlagecaial 2AI6RIFS
)

D) qaisy 2i621e 74) GeQIRAINE IR PIRIR IYS FIN YA SI2C-RQ-37 (1999

goe?

72) Which longitude is taken as the reference for Indian

Standera T i
B) gauge

A) 80.5° E longitude C) giaiita

B) 82.5° E longitude T .

C) 82.5° N longitude :

D) 82.5° W longitude

75) Which among the following statements is TRUE about

w g = 90° latitude?
72) QIQQ1E el AFIE QUER 6% QIEF ged @udiag ?

R o A) It receives vertical rays of the sun throughout the year
A) 805 @gige qidal B) The vertical rays of the Sun keeps this place hot
B)g25 @aqé giaal throughout the year
C) 825 Ggtaensgidn C) At 90° latitude, thick deciduous forest are found

: D) It remains frozen throughout the year

D) 82,5 Ggradia graeal .

75) 90 &g 2818 AR6QR FIRYS ABYER AUQ 614 QBT
73) Who among the following was the founder of 'Gandhi

Q0] 22 gl QQE ?
Seva Sangh'?
AveeesE: & 3
A) Karamchand Thapar ) EiEed QUIARS @I6Q Al 9E 90l T6@
B) Jamnalal Bajaj B) QuIaqre goiaee & AIeg 99 Al 928G /& 969
C) G.D. Birla C) 90 B¢l 2ArE6Q P8 QHAIe 208 6ogRIQ few
D) JR.D. Tat g _
) o D) Qg e¢1I61 49l QATIge QEaId
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Section 8 - Paperll-Science

76) Rays from the sun are focused by a lens of diameter
5 cm on to a block of ice and 10 g of ice is melted in 20
min. Therefore the heat from the sun reaching the earth

per min per sq.cm is (Latent heat of ice, L = 80 cal/g)

A) 4.08 cal cm™? min™
B

)

)
C) 0.51 cal cm?Z min"'
D) 3.02 cal em?min™

76) NQ 5 627 @4Id S8 6AY Tl JAIE TS 9@ TS
QACER 6999 ARIGRI | 9Q° 2061766 10 gIfl QAL Comm 6969

Qee199a 98 Q6sadl euea 9f fifesa aesae Qie 19
6298 (S9TQ 99 919, L = 80 QUIERIA1/GIF)

A) 4.08 cal cm:min

B) 2.04 cal cm: min

)
)
C) 051 cal cm: min

)

D) 3.02 cal cm: min

77) Which of the following observations is INCORRECT
to determine whether a chemical reaction has taken
place?

A) Change in temperature
B) Change in pressure

C) Change in colour
D) Change in state

77) 92 0958 90 62IRE @ Q1T ol A0l K89 aneea
FAFRIQ 626 ULISIDE QR?

A) clanigiea adeas
B) ciasa adeae
C) aereq afees
D) zegika aGeae

b ik TechoﬂNoHdJnc

78) Hyperthermus butylicus is an example of which
microorganism?
A) Fungi
B) Protozoa
)
)V

Archaebacterla
D

78) 2IRQEAA QAR 6208 678 IFF1TR Y AILAE?

A

) @
B) sgieeisail
C) aisaxuicadell
D) aieaga

79) When ferrous sulphate crystals are heated strongly

they decompose to form which of the following
oxides/acids?

A
B
c
D

Ferric oxide
Sulphuric acid
Ferrous oxide
Hydrochloric acid

— e

79) 6K6DEIER 6TAY IMETS ATRGER ASWIS JI9¢ @RULI
QI 2AYEE 621R @4l 997

A) 673@ 2gIae
B) angids 21,
C) 6xeq 2giae
D) eiqseicqise 2Igl

80) A bullet of mass M hits a block of mass M'. The
transfer of energy is maximum, when

A) M'>> M
ByM'=2M

ow-<u Techofworld.In

D) M =
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80) M 9gQ 984 9@ g7 M’ 9gq 998 1@ gme]@ 21618 6aall 83) When a hp;st is exposed to.antigens, which may bg in
450 Zeneae Qél&g@ 629, 6606967 the form of living or dead microbes or other proteins,

antibodies are produced in the host body. This type of
immunity is known as

A) M >> M

ovw-ow | €Chofworld.In  »aemmay
C)M' <<M C) Cellular immunity
D)M=m

D) Innate immunity

81) For a given material, the Young's modulus is 3.6 times

83) 64606965 691IGN F91R 21F6ea U6 Ag8 B9, KIgl ¥180
the modulus of rigidity. Its Poisson's ratio is

Ql fe Anexe QU AXY 6QIGG 62IRUIER, 6ACEERsR QT

A) 12 49106 2149% 98 621R2IM | Y€ dRI0a QFIGTq @8 gRIN?
B) 0.4
A) =i -
)08 ) 2TR QG
D) 0.6

B) aid@ Qeite
C) saqimuia @f4ad

~ “ ~ D) 696 Qeiad
81) @2l YIRYR! ¥R Qg IR, AFAT QI 62A8 RE0INGIR gt
QIR 3.6 Q41 | M2IR ALY AQAIS 6269 ?

A) 12 84) Which among the fol]owing is a microscopic, single-
: celled organism usually found in water?
B
Ho A) Garra rufa
Clos B) Amoeba
D)os6 C) Sea Urchins
D) Molluscs

82) Which among the following options is an example of

Pneumatophore? 84) GEIARIQ 62916 9@ 9T, IR 6RIT1 F19 LI AINEISE FR6Q
Cimela?

A) Root of Epiphytes AmeN’

B) Root on land A)

C) Root in water SliQl QT

D) Root in Mangroves B) «fial
C) dage

a el D
82) RAFIQ 6996 QUABSIETIR A 99 ALIL6E? ) 67192

A) 93giRe @ 699

85) The Young's modulus of the material of a wire is equal
B) auf &oea 66 to the longitudinal

C) o% 4663 609 A) strain produced in it

B) stress required to increase its length four times

C) stress acting on it to produce infinite longitudinal strain
D) stress required to produce unit longitudinal strain

T AaAalhAfiiiAawl Al

D) ql6gia @06 696

PN
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85) @ PR AIFIYIQ Lafe Qo RILIQ ?J@S@d‘l 4e 4ale

A) g6 agI@e oI

B) we@ 6344 01098 9F IRl 29SS SIC

C) 2Q171 2998 910 AQIRe H96s 9! AU FITY *QEJ|! 919
)

D a@e@dq Q1Y @@ QY9N IR RS SIT

86) Which organelle among the following that is found only

in the Plant Kingdom helps in the process of
photosynthesis?

A) Golgi Complex
B) Plastids
)
)

ormesomes | @CHOTWoOrld.In

D) Nucleus

86) GFrQ 60 2 AL 69 ARC Sdesa fFa IRl
2IERIR L°6GIGER AIRIYY FER?

A) and f68g
B) Q&e

C) qIa6aIsaIe!
D) qyqad

87) A body of mass 100 kg is at rest. A force of 10 N is
applied on it. The work done in first second is

A) 0.75 J
B) 0.25J
c)14J

D) 0.5J

87) 100 62& 9gQ *98 1@ 99id 3a AI96a 28| 12l A6

10N 9f g62I6 @QUTIRII J2IF 6d6Q€6a AHITG 621R2Q1 RIIR
A8 6L

A) 0751
B)0.25J
C)1l
D)05J

88) Read the following statements and choose the
CORRECT option with respect to the structure of a cell.
(i) Flagella are the small structures which work like oars,

causing the movement of either cell or the surrounding
fluid.

(i) Cilia are comparitively longer and responsible for cell
movement.

A) (i) is TRUE and (ii) is TRUE
B) (i) is FALSE and (ii) is TRUE
) (i) is TRUE and (ii) is FALSE
) (

i) is FALSE and (ii) is FALSE

C
D

88) 6QIGY 6RIEQ ARERI AYLER FER  QaIAIRR
QUIQINGER Ueg 8 AR GaF 90U Qg |

(i) FIeomI 629F 6818 A°ELR| T 2GR OF FIF 96q, LILI
P10l 6918 BI'Q CIRAIHUER & CARYED QIR |

(ii) SR 2ACAVFE A G 6T VRS Tl QU1 |

A) (i) 6298 O 6 (i) cead 0
B) (i) 6208 gm 6 (i) 6268 0%
C) (i) 6208 09 8 (i) 6298 ga
D) (i) 6208 @@ 6 (i) 6268 an

89) The plants of which region usually have roots in water
but emerge from water for photosynthesis?

A) Tundra region
B) Rainforest region
C) Aquatic region
D) Desert region

89) 604 2ERQ AATGEREA AINEHS 60a U1 Go6q 21N §F
26RI T°64Ed lal IS QITIRG ALTIR AT |

neee | €Chofworld.In

B) qdiagy 2ise
C) aas 28e
D) cge aga
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90) The angular velocity of seconds hand of a watch will

e 1 €CHOTWOrld.IN

(

(1r/30) rad/sec
(1r/60) rad/sec
(6071T) rad/sec

(

(11/30) rad/sec
(11/60) rad/sec
(
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Answer Key
1. D 31.C 61. A
2. A 32.A 62. B
3. B 33.D 63.B
4. D 34.D 64. D
5. A 35.A 65.C
6. D 36.B 66. B
7. A 37.D 67.D
8. D 38. A 68.D
9. B 39.B 69.D
10. A 40. A 70. A
11.D 41. A 71. B
12.C 42.D 72. B
13. A 43.D 73. B
14.B 44. C 74. A
15.C 45.D 75.D
16. D 46.D 76. B
17. € 41.€ 71. B
18. B 48. B 78. C
19.B 49.D 79. A
20. C 50.D 80.D
21. B 51..A 8l €
22.C 52.B 824D
23.D 53.B 83. A
24. A 54.D 84. B
25.D 55.C 8g.D
26. C 56.B 86. B
21 CT ST 873 D
288 58. BgE. D
29. A 59. B 89. C
30.B 60.B 90.B
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